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const int MAXN=1le5+5;
struct Left Heap
int root[MAXN/;
bool del[MAXN];
struct Node
int id,val,dis,ch ’
bool operator < (const Node &b)const
val<b.val| | (val==b.val&&id<b.id);

node[MAXN] ;
void build(int *a,int n
node .dis=-1;
_rep(i,1,n

node/i].id=root|[i]=i,node[i].val=alil;

int find root(int x x==root|x!?x:root|[x|=find root(rooti/x|);
void merge(int &k,int k1,int k2
'kl | k2 k=k1l|k2,void();

node| k2| <node|kl|)swap(kl,k2);
merge(node|k=k1l].ch ,hode[kl].ch ,K2);

node nodelk].ch .dis<node[nodelk]l.ch .dis
swap (node k|.ch ,nhode|k].ch ;
node| k| .dis=node[node/k].ch .dis+1;

void merge(int x,int y
del[x]||delly ;
int rt,pl=find root(x),p2=find root(y);
pl!=p2
merge(rt,pl,p2);
root/ pli=root/p2|=rt;

int top(int x
del|x -1;
node| find root(x)|.val;

void pop(int x

del|x ;
int rt,p=find root(x);
merge(rt,nodelp].ch ,hode(p!.ch ;
root p/=root/node/p!.ch =root|/node(p|.ch =rt;
del|p/=true;
heap;
int a/MAXN];
int main

int n=read int(),m=read int(),opt,Xx;
_rep(i,1,n
alil=read int();
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heap.build(a,n);
m__
opt=read int(),x=read int();
opt

heap.merge(x,read int o

’

enter(heap.top(x));
heap.pop(x);
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const int MAXN=1e5+5;
struct Left Heap
int root[MAXN/;
struct Node
int id,val,dis,ch ;
bool operator < (const Node &b)const
val>b.val|| (val==b.val&&id<b.id);

node[MAXN] ;
void build(int *a,int n
node .dis=-1;
_rep(i,1,n
node|i].id=root|/il/=i,node[i].val=alil,nodeli].ch =node[i].ch =node[i].d
is=0;
int find root(int x x==root[x|?x:root|[x/=find root(root|(x]);
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void merge(int &k,int k1,int k2

int

I'k1l]||'k2 k=k1l|k2,void();
node k2 <node|kl| )swap(kl,k2);
merge(node  k=kl].ch ,hodekl].ch ,K2);

node|node|k].ch .dis<node[node(k]l.ch
swap (node (k! .ch ,hode k]| .ch ;
node/ k| .dis=node[node[k].ch .dis+1;

merge(int x,int y
int rt,pl=find root(x),p2=find root(y);

pl==p2 -1;
update(pl);update(p2);
pl=find root(x),p2=find root(y);
merge(rt,pl,p2);
root|/pl/=root|[p2|=rt;

node|rt].val;

void update(int rt

heap;

int temp,Root;

merge(temp,node|rt].ch ,nhode[rt].ch ;
node/rt|.val>>=1;node[rt].ch[0/=nodelrt].ch
merge (Root, temp, rt);

root|/Root =root|rt/=Root;

int a[MAXN];

int main

int n,m,Xx,y;

gogd
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~scanf("%d",&n

_rep(i,1,n

alil=read int();

heap.build(a,n);

m=read int();

_rep(i,1,m
x=read int(),y=read int();
enter(heap.merge(x,y));

.dis

=node|rt].dis=0;
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